

Type of Business: CONSTRUCTION ONLY This certificate is valid until the 31st day of December 2015.

Given under my hand this 23RD March, 2015.

ISSUING OFFICER

DIRECTOR GENERAL





THE GAMBIA

SRN: <u>0710367575</u> Form SWR3

Certificate of Business Registration

Is hereby granted to the under mentioned to carry on business in The Gambia

Name of owner of business FAKORO JARRA

Nationality of owner of business or in the case of company, country of Incorporation THE GAMBIA

Name of Business FAKORO JARRA CONSTRUCTION

Type of Business GENERAL CONSTRUCTION

Place of Business BASSE MANSAJANG KUNDA, FULLADU EAST, UPPER RIVER, THE GAMBIA

Residential address of owner of business or Registered Office (in the case of a Company)

Given under my hand this 19th day of March 2015 Registrar of Companies

Fakoro Jarra General Contractor Basse Mansajang Kunda Fulladu East, Upper River Region Tel: 7070583

TO WHOM IT MAY CONCERN

Find attached the review and updated bill of quantity and cost, for your perusal.

Sign:

FAKORO JARRA. TEL: 707058

BASSE MANSAJANG

Fakoro Jarra

General Contractor

	St. Joseph's Lower Basic School				
NO.	DISCRIPTION	QUANTITY	UNIT	RATE GMD	AMOUNT
	Maisonry external and internal partitions cement				
	sand block 2.oN/m2 cement	315	m2	300	94,500.0
	sand mortar, sand block				
	walls 150mm thick vertical				
	windows and doors				
	DOORS				
	Steel encasement metal door				
	glazed with 50x50 x2.5mm as				
	frame complete iron mongery				
	and union locks including prime				
	and paint 2 finishe coats gloss				
	paint to steel	_	NI-	3500	17 500 /
	WINDOWS	- 5	Nr	3500	17,500.0
	2 bags steel encasement window with glazing			2000	2 000
	with fabricated bunglar bars	1	Nr	3000	3,000.0
	3 bays steel uncasement windows with glazing				
	with fabricated bunglar bars	9	Nr	4000	36,000.0
	FINISHES	-	141	4000	30,000.
	Render cement sand 1:4 mix) to new walls 12mm				
	thick to walls	700	m2	125	87,500.0
	PAINTING	700	1112	123	87,300.0
	Painting to new walls prepare, price and paint 2 finish				
	coast emulsion paint to render walls	700	M2	95	66,500.0
1	SUBSTRUCTURE	700	IVIZ	93	00,300.0
_	EXCAVATION				
4	Trenches and columns plts to receive				
1		40		120	F 700 (
	foundation trenches 600x600x800depth	48	m3	120	5,760.0
,	Column plts 800x800x900	7	- m3	120	840.0
	DISPOSAL				
)	Excavated materials off site				
	EXCAVATED MATERIALS				
	Filling to excavateions with materials arising				
	from excavation trenches and plts				
	Filling around building compacting	1	item	3500	3,500.0
j i	Anti-termite treatment of foundation and filling				
	with dursban or other	203	m3	50	10,150.0
2	PLAIN CONCRETE				
	Plain in-situ concrete lean mix 10N/mm2 10mm				
	aggregate size wash aggregates			3000	3,000.0
	Sub-Total:				328,250.0

	CONCRETE WORK	T			
	Reinforced insitu concrete 20N/mm2 20mm aggregate				
	size wash aggregate foundation				
Α	Strip foundation	8	m3	4000	32,000.00
В	Column base 800x800x300 thick	3	m3	4000	12,000.00
С	Column 150x150mm	1	m3	4000	4,000.00
D	Floor slab 100mm thick	21	m3	4000	84,000.00
E	Extra over for trowel finish to unset concrete	1	m3	4000	4,000.00
	REINFORCEMENT HIGH YIELD STEEL BARS				
F	6mm starter bars	45	m	15	675.00
	12mm columns	80	m	35	2,800.00
	12mm bars columns bases	80	m	35	2,800.00
	FORM WORK				
G	To edges of slab	15	m2	100	1,500.00
	WALLS AND PARTITIONS MASIONRY				
	Cement sand block 2 on/mm2 cement mortar				
	or equal approved cement sand block				
Н	WALLS 150M THICK VERTICAL	82	M2	300	24,600.00
	SUPERSTRUCTURE				
Α	Columns 150x150mm	1	m3	4000	4,000.00
В	Lintel 150x200mm	3	m3	4000	12,000.00
	REINFORCEMENT				
	Reinforcement high yield steel bars				
С	6mm to columns	110	m	15	1,650.00
D	12mm to columns	170	m	45	7,650.00
E	6mm to lintel at 200m centre	250	m	15	3,750.00
F	12mm to lintels	400	m	35	14,000.00
	FORM WORKS				
G	Columns	15	m2	100	1,500.00
Н	Lintels	80	m2	100	8,000.00
	Floor finishes to offices only				
	unglazed porcelain tiles to floor area on 40mm				
	semi-dry cement /sand screed	35	M2	450	15,750.00
	skirting tiles 100mm	34	M2	50	1,700.00
	CEILING				
	6mm ceiling plywood to				
	50x50m treated ward wood				
	timber joest at 600mm centres				
	including woulding to offices	35			
		33	M2	500	17,500.00
	Sub-Total:		1712	300	255,875.00

PAINTING AND DECORATION prepare, prive and paint 2finisle coats eMulsion timber works windows				
and fascia boards	1	1tem	3000	3,000.0
ROOF fabricated mild steel roof 40x40x2mm with 4r 12dia	,			
50x75mmx5mmx150mm long mild steel angle cleats welded to top cuord of roof 90x130 x 5mm bearing plate camying 12mm dia.	13	No	3000	39,000.0
B touch with red oxide after fixing apply 1 coat and one loat full gloss finish	13	Nr	250	3,250.0
C 50x50x5mm steel angle purlins 1000mm centres fixed to 50x50mm touchup with red oxide	300	М	200	60,000.0
D 200x25mm had wood timber fascia board	. 72	М	150	10,800.0
E Roof redge	29	М	500	14,500.0
F Aluzin profile (0.5mm) gauge single span roofing sheets	320	M2	400	128,000.0
Sub-total	320	IVIZ	400	258,550.00

Sub-Total: 1:	328,250.00
Sub-Total: 2:	255,875.00
Sub-Total: 3:	258,550.00
Grand Total:	842,675.00

GENERAL CONTRACTOR
BASSE MANSAJANG
DATE 25/2/2045